(BR) ) .
ik L
DECELEEONISHE (REEHR) 1-2 B AR

EMLREEE— 1-2 (BFEEFE /N EAR

[BEB/NEH

i

3
X

Tt

RmEE)

&

1
/NS

5
=

ok
i

ok
e
>
B

A&

El

B
=

&

ok
[

22— T LA

K ZER

KRIAEE

KERAREE

KREER

KRRt 45—

AHETEIE S

KMk

1-1



FEC EBEETDONIIPHE (IRER) ERUREEY S —

BT o E
XD IPESE=2SESE

NN

Wik @ BT ESEEONISHEE PREEM)

el @
% ki
WM A 2 us—l b
?g%ﬁ ERiRER ¥ —
Nal Y FL—av AR FAA—4 :

WER | g (RL7opsr L) | W % N et b
ﬁﬂg}No #h E1m _—

0.06 T S o o

Nalo U FL—av AR O A—4
Q@ 0.06 B WER | iy (Ruronir oL ds)) | W %

0.06 TAE |

® 0.07 B
ﬁ%No i Elm

1-2



